

 $\vec{x} \ \vec{g} = -\frac{GM(r_i)}{r^2} \hat{r} \implies \quad \vec{r} = -\frac{4\pi}{3} \frac{Gr_i^3 \rho_i}{r^2} , \text{ where } r \equiv r(r_i, t).$

☆ Rescaling: Let $u(r_i, t) \equiv \frac{r(r_i, t)}{r_i} \equiv a(t)$, where $r = a(t)r_i$ and

 $\ddot{a} = -\frac{4\pi}{3} \frac{G\rho_i}{a^2} , \quad a(t_i) = 1 , \quad \dot{a}(t_i) = H_i ,$ and

 $\ddot{a} = -\frac{4\pi}{3}G\rho(t)a$.

☆ Initial conditions: $r(r_i, t_i) = r_i$, $\dot{r}(r_i, t_i) = H_i r_i$.

$$\ddot{a} = -\frac{4\pi}{3}\frac{G\rho_i}{a^2} \implies \dot{a}\left\{\ddot{a} + \frac{4\pi}{3}\frac{G\rho_i}{a^2}\right\} = 0 \implies \frac{dE}{dt}$$

where

-2-

$$E = \frac{1}{2}\dot{a}^2 - \frac{4\pi}{3}\frac{G\rho_i}{a}$$

Alan Guth Massachusetts Institute of Technolog 8.286 Lecture 7, September 26 = 0,